www.DaltonsWadkin.com

INSTRUCTION MANUAL No 3033/1

www.DaltonsWadkin.com



www.DaltonsWadkin.com

www.DaltonsWadkin.com



A1

@)
&
CK90

HI%%DQSPEED
CROSS-CUT SAW

QD
$$

*

M/C No
TEST No

INSTRUCTION MANUAL



www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.DaltonsWadkin.com

MANUFACTURERS E.C. DECLARATION
OF CONFORMITY

The following machine has undergone "Conformity Assessment" and has undergone
Third Party Examination by a Notified Body in accordance with:-

Schedule 1V of the Supply of Machinery (Safety) Regulations 1992
and Amendment No. 2063

COMPANY
Wadkin Ultracare Limited
Green Lane Road
Leicester O
LES 4PF @)
*
*
IBLE PERSOMN \ l\o

Mr J P Smith (Director) @b

HINE DESCRIPTION

TYPE High S\@rossrcur Saw

>
MODEL K
e

DIRECTIVES COMP. WITH NOTIFIED BODY

Supply of Machinefp(Safety) Regulations 1992 Lloyds Register
Amendment No. 2063 1994 Lloyds Register House
Draught Proposal CEN/TC 142 29 Wellesley Road

ISO 9001 Part 1 Croydon, CRO 2AJ
SIGNED ON BEHALF OF WADKIN EC TYPE EXAMINATION
ULTRACARE LTD. CERTIFICATE NO.

ECS5/000011

www.DaltonsWadkin.com



www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.DaltonsWadkin.com

PREFACE

IMPORTANT

It is our policy and that of our suppliers to constantly review
the design and capac:ti{ of our products. With this in mind we
would remind our customers that while the dimensions and

performance data contained herein are correct at time of

ﬁ_‘mng to press, it is possible that due to the incoppgo¥ation of
e latest ﬂevefnpments to enhance performanc imensions

and suppliers may vary from those illustrated. b

&

This manual is written as a general guid&@ ical machine

is shown to illustrate the main features. eason of clarity

certain guards, safety devices and m 1parts may not be
shown on particular’ illustrations but be fixed to the
machine, correctly set and workin operating

S
@\

Q’b
&

Faifur&campiy with instructions in this manual may
invalidate the guarantee

www.DaltonsWadkin.com



www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.DaltonsWadkin.com

BE CAREFUL
THIS MACHINE CAN BE DANGEROUS
IF IMPROPERLY USED

Always'use guards.
Keep clear until rotation has ceased.
Always operate as instructed @
and in accordance with good pr e.
Read instruction manual beforg~pstalling

operating or maintain&chine.

Manufacrure@@ WADKIN PLC
Green Lane Road

5\9 Leicester
A\ LE5 4PF
% England
Qone no -0116 2769117
$ *“faxno 0116 2742310

$$

WATIDAAL

ACERETRANDN
07 CERTWICATIDR
L1ili{43

www.DaltonsWadkin.com




www.DaltonsWadkin.com

www.DaltonsWadkin.com



(=4

www.DaltonsWadkin.com

HEALTH AND SAFETY

The CE mark on this machine signifies that an
EC declaration of conformity is drawn up
indicating that the machine is manufactured in
accordance with the Essential Health and
Safely Reguiremenis of the ‘Supply of
Machinery (Safety) Regulations 1592'.

The ‘requirements for supply of relevant
machinery’ in the General Reguirement of the
Hegulations are nol only that the machine
satisfies the relevanl essential health and
safely requirements, bul also that ‘the
manuiaclure.....carries oul the necessary
research or lesls on componenis, fitlings or
the complele machine 1o delermine whether
by iis design or construction the machine is
capabie ol being erecled and put inlo service
safely’.

Persons who install this machine have dulies
under the ‘'Provision and Use of Work
Equipment Regulations 1982', An indication of
{hese duties is given in the following extracts,
but the user should be familiar with the full
implications of the regulations.

Every employer shall ensure tha
eguipment is so constructed or adaplx o
be suitable for ihe purpose for whic sed
or provided.

very -employer
ing condilions
d salely of persons
5 or undertakings in
nt is lo be used and
by the use of thal

In selecting work equipme
shall have regard 1o th
and 1o the risks to heall
which exist in the
which thal work
any additional risk
work equipmentl.

Every employer shall ensure that work
equipment is used only for the operations for
which, and under conditions for which, il is
suitable,

In this regulation 'suitable’ means suitable in
any respect which il is reasonably loreseeable
will afiect heaith or safety of any person.

The Provisien and Use o Work Equipment
Regulations also include reguiremenis as
{ollows:-

regulation & - mainlenance

regulation 7 - specific risks

regulation 8 - information and instructlions

regulation 9 - training

Note:-

uiremenis of the
Regulations 1974

Attention is drawn 1o th
‘Woodworking Mac
which are not d by the Supply of
Machinery (Safel egulations or other, eqg;
Regulation Qma Woodworking Machinery
Aegulaljo \ aining', slill applies.

Whlls@ rime duly for ensuring health and
a sis with employers, employees loo
visfegal dulies, panticulary under seclions 7

& of the Health and Saletly at Work ActL

% hey include:

AEGULATION 5 requires that; Q

Taking reasonable care for their own heahh
and salely and thal ol others who may be
atlected by what they do or don't do;

co-operating with their employer on health and
safely,

nol interfering with or misusing anylhing
provided for their health, safely and welfare.

These duties on employees have been
supplemented by regulation 12 of the
Management of Health and Safely at Work
Regulations 1852. One of the new
requirements is that employees should use
correclly all work ilems provided by their
employer in accordance with their training and
the instructions they receive 1o enable them 1o
use the iterns safaly.

www.DaltonsWadkin.com



www.DaltonsWadkin.com

(71

Noise

Moise levels can vary widely from machine 10
machine depending on the condilions oi use.
Persons exposed 1o high noise levels, even for
a short lime, may experence lemporary partial
hearing loss and continuous expesure to high
levels can result in permanenl hearnng
damage.

The Noise at Work Regulations 1989 place
legal dulies on employers 1o preveni damage
to hearing.

There ara three action levels of noise defined
in ragulation 2;

The first action level:-

a daily personal noise exposure (Lesd) of
BSdB(A)

The second action level;-

a daily personal noise exposure (Lers) of
S0dB(A)

The peak action level

a peak sound pressure of 200 pascals {140@

re 20pa)

The exposure level is obviously in xd by
ihe emission level of ali the egyt ‘use.

Emissions levels for IRES provided in
the paricular machine i ich manual.

These levels are d in accordance with
IS0 7860 und cerlain  specified tesl
condilions, they nol necessarily represent
the highesl noise level, which is influenced by
many laclors, eg number ol spindles in
operalion, iype and condition ol work piece,
spindle speeds elc.

For regulations and information on relevant
personal protective equipmen! ie ear
delenders, employers should refer 1o the
Personal Protective Eguipmenl al  Work
Regulations 1892,

Dust

Wood dust can be harmful to health by
inhalation and skin contact and concenlrations
ol small particles in the air can form an
explosive mixture,

The Control ol Substances Hazardous to
Health Regulations (COSHH) 1589 place legal
duties on employers 1o ensure that;-

the exposure ol his employees to subslances
hazardous to health is either prevenled or,
where this is not reasonably praclicable,
adequately controlled,

xdosure of employees
s lo heatth shall be
olher than the provision
equipmeant.

where 1 %&Lras laken in accordance with
the % above do not prevent or provide
adah ontrol of, exposure lo substances
h 5 1o the health ol employees, then in
%n io 1lacking those methods, the

yer shall provide those employees with
such suitable personal protective eguipmenl

as will adeguately conirol their exposure lo
substances hazardous 1o heahh.

.....adequale control {
fo a substance h
secured by mea
of personal pro

Instructions for Use

Machinery manufactures are required by the
Supply of Machinery Salety Regulations lo
provide comprehensive “instructions for Use'
ol equipment, # is impordanl that this
information is transmitted lo the person using
the machine.

www.DaltonsWadkin.com



(74

www.DaltonsWadkin.com

IMPORTANT

SAFETY PROCEDURES AND CONSIDERATIONS

To ensure safe working conditions, persons operating and assisting with the
operation of this machine must ensure that they read and fully understand the
instructions given within this manual and have received sufficient training in the use
of the machine and the safety aspects o be observed.

Note:- Persons underthe age of 18 years must not operate the machine except

A)

1)

2)

3)

4)

5)
6)

7)

8)

during the course of training under the supervision of a trained operator.

OPERATION OF THE MACHINE.

You have read and understand the operation and safety QPE of the machine
and have been checked out by a qualified supervisor.

POINTS TO NOTE BEFCORE OPERATING OR ASSIS’I& WITH THE

*
The machine is supplied with full safe guardi . \Ie machine shall not be

operated unless the safe guardings are in pusite are functional.

Cutters/blades are the correct type, suj r the machine and working
conditions, rotate in the correct direction & Suls/are sharp and correctly fitted.

Loose clothing is either removed urely fastened back and jewellery

removed.
Adequate working space and § &zs provided.

All dust extraction equi rr%\is swilched on, properly adjusted and working
adequately.

The machine is @Jrgﬁy installed (refer to installation section within this
manual).

The maching d only be used for cutting wood or materials with physical
and techn al characteristics similar to wood, and for which the chip or
particle removal process Is similar.

www.DaltonsWadkin.com



www.DaltonsWadkin.com

(*4

B) DURING MACHINING:-

1) Wear suitable protective clothing e.g, approved eye protection, ear defenders
and dust masks. Gloves shall be worn when handling sharp edge saws.

2) Stop the machine using the emergency stop or at the mains isolator before
making adjustments, cleaning or carrying out maintenance.

3) Keep the floor area around the machine clean and free from wood refuse. Do
not allow the floor around the machine to be come slippery.

4) Stop the machine and report immediately 1o a person in authority any actual or

potential malfunction or operator hazard. Do not attempt to repair or rectify the
machine unless qualified or authorised to do so.

5) The operator must not leave the machine running whilst unagqed.

6) Never by-pass interlocks. O

7) A push stick or handled push block must be used 1o g& the trailing edge of a
workpiece past the cutting blade. ¢

&
WARNING:- (b.b

Failure to observe correct operatin dures prior to and during operation of
this machine can result in severe i

DO NOT attempt to operate 10 achine while under the influence of anything

that reduces your alertne \
>
W
&
&

www.DaltonsWadkin.com



i §

SECTION 1

SECTION 2

SECTION 3

SECTION 4

www.DaltonsWadkin.com

CONTENTS

GENERAL INFORMATION Page
General Description 1-1
Foundation and Machine Dimensions 1-1
Noise Emission Values 1-2

Machine criteria 1-2

Machine cutting criteria 1-2

Tooling criteria 1-2
Operator Working Stations 1-3
Machine Specifications S
Electrical Wiring Diagrams &

O

UNLOADING, UNPACKING, AND INST. ATION
*

Cleaning

Location and foundation
Machine re-assembly
Supplies and Services

Electri pply
Ex onnections
omnmm@@%ucnons

. *
Lniaach 8{‘\0
>

Safety ety Devices
Before operating the machine
- During machining
e Controls

ical Machine Operation Cycle

$ im Stop Adjustment

MAINTENANCE

Scheduled Maintenance

WEEHIF

Monthly

Yearly

Two yearly
Tensioning/Replacing Motor Drive Belts
Tensioning/Replacing Saw Spindle Drive Belts
Air Filter and Lubricator Maintenance
Changing Saw Blades
Approved Lubricants

R RN
AR AL A

www.DaltonsWadkin.com



www.DaltonsWadkin.com

SECTION 5

ILLUSTRATED PARTS LIST

Main Body Assembly

Drive and Spindle Assembly
Top Clamp Assembly

Trim Stop ﬂ.ssamblg

Saw Clamp Assembly
Outfeed Table Assembly
Pneumatic Assembly

Loy

qoanaae
o —

(#4

www.DaltonsWadkin.com



www.DaltonsWadkin.com

SECTION 1 GENERAL INFORMATION

General Description

The CK machine is a high spead cross
cut saw capable of cutting timber
sections up to 305mm x 100mm.
Timber may be manually or machine
fed into the saw. To ensure the correct
lengths of material are cut a variety of
options are available. These include
automatic stop systems as well as
manual and pneumatic stops. Once at
the correct cut setting the top guard
clamp is automatically lowered down
as part of the operating sequence and
holds the timber whilst the saw is
cutting. When the operating sequence
is finished the clamp is released ready
for the timber to be moved 1o the next
cut position.

The CKS0 crosscut saw may be
supplied in either a right hand or leit
hand version. The leit hand version
has the saw blade and outfeed roller
table to the left of the machine when
viewed from the front, with timber
being feed from the right. A right
handed machine is the mirror image of
this. The working area indicated in the
illustration is for the standard machine
although this may alter if optional roller
tables are fitted and the machine is still
maned by a single person,

\ g

O
498.5 48O & HOLES DI.&.ME‘FEHB@
| | DIRECTION OF
i | o TIMBER FEED
o i el Fr—
D i | : ~
™~ ]
s P f_\é
=
E o E—
o i
o| &3 e f—
3|
E =T H
(s}
[ <
| 500 | 640
FIG1 FOUNDATION PLAN OF A LEFT HAND MACHINE

www.DaltonsWadkin.com




www.DaltonsWadkin.com

(*4

NOISE EMISSION VALUES

The figures quoted in the noise
emission chart are emission levels and
are not necessarily safe working
levels.

Whilst there is a correlation between
emission levels and exposure levels ,

this cannot be used reliably
determine whether or not further
precautions are required 1o achieve

safe working levels.

Factors that influence the actual level
of exposure to the work force include
the duration of exposure, the
characteristics of the work room,
sources of noise etc i.e the number of

machines and  other  adjacent
processes. Also the permissible
exposure |levels can vary from country
to country.

Emission levels, however will enable
the user of the machine to make a
better evaluation of the 'hazard and
risk'.

Machine criteria

The machine was free standin
concrete floor, not bolted dow
mounted on any vibration da
A flexible pipe connecte
to the dust extraction.

There was no enclos re,
machine.

Machine cutting criteria

The maching was fitted with a 500mm
main saw rotating at 2200 R.P.M. The
saw blade had 72 carbide tipped teeth
and a cutting width of 4mm.

Feed rate:- 4-8 M/min

Material criteria

Material - Sr::u vood medium
Moisture cante B-14%

Timber mdtb 200mm
Trmber hie 75mm

T criteria

he CKB0 crosscut saw has been
designed to accept only 500mm
diameter saw blades suitable to fiton a
30mm spindle.
The saw must have a 'pin hole' drive
location.
The saw speed is fixed at 2200 R.P.M.

i

TR g 2 e G R
2 {"‘;’“‘”“"‘s?s%m

e b P o

PR

; "m: Rszﬁﬁfckgoﬁféxgggzssnﬂzam

MR :_"'h& e S T

D ”““"“‘i‘-nGH »'SPT:'EEI Dﬁosé”eﬂi

BT
bR
i

S <¢'°&§'§

e B

TR »
S R oyt S
Ev‘f‘&&%&m«mxxxmcnxoy >bx.6‘§:yx< iy hw

FiEE e e e s s A

e g

e

..dtéw;émas;ﬁw

h»o.as.xrrsr*s*s“s S

e

B e T e ot 8

- l‘EE"]V{LWAﬁl}:: B e ,w-Hm“-ksf“

:_cu- 1 *;‘_‘-_-"- e # M s--z»»»onp.w
L 3‘?‘?5"3?"4*‘”51151:”.““”:*; °§§%§3§3?§§“§ j}
Benia‘*r:gy&wggghtedégrm; vsu’:sr;gal:ﬁLfr: ”ﬁg;g }
IndB re 20uPaat ihe: F"%ﬁwﬂ'ﬁ»pcﬂiwﬂm . 80.11

i "5 .93'{&.{"5{ oSb
s

;yﬂimgaidgfermmeﬁ acc‘bgti:nﬁﬁ%%ggéﬁ?ﬁﬁﬁ}s%éﬁﬂedgﬂ ?EEO Annéﬁﬁ%é?:xi;q

e o o

: ng@:a‘;&?iéﬁfdanéa witt i—‘i?is@&a g
EaE ox.ag%;é E]dl mQ A ““'ﬁlﬁ Dp'erai g ?E?i‘&*ig

_s$$_‘?*’3;"xk$s
o n
4&‘9&#&5«%*«*&»?»9'«/ --------- Sty ﬁ.,_g
o.‘s”‘&}m««»*x:&?xsx TRt
~§ b S ey
s nxgxx.: wgp%-g:-g §v o
e e S

R R B S, >r<<k,o<>r;3b,§f.wﬁ,,“wﬂ__“_ 5

et

EEE R R A

www.DaltonsWadkin.com



(74

www.DaltonsWadkin.com

Only tools made in conformity to pr
ENB47-1 shall be used on the
machine.

It should also be noted that H.S.S
saw blades may be prohibited by
law in certain couniries and the
operator should ascertain the
position on this point.

FIG

feed

hPPRDXIMATE WUHKFNG ARE _‘
FOR A LEFT HAND MACHIN

N
Q’b

$$

v

www.DaltonsWadkin.com



www.DaltonsWadkin.com

CKE0. Co ressed Air Consumptio

Using Full 200mm. Stroke.

Cuts/iMin | Cu.M./Min| Cu.M./Hr | Cu.Ft./Min | Cu.Ft/Hr
10 0.012 0.7 0.42 25
20 0.024 1.4 0.84 50
30 0.036 21 1.25 75
40 0.047 2.8 1.67 100
50 0.059 3.6 2.09 125
60 0.071 4.3 2.51 151
70 0.083 . 50 |- 293 176
&0 0.095 5.7 = 33D 201
S0 0. 107 64 | 376 226
100 0.118 .3 4.18 251
110 0.130 7.8 4.60 276
120 0.142 8.5 5.02 301

1-4

www.DaltonsWadkin.com



(#4

www.DaltonsWadkin.com

MACHINE SPECIFICATION

LUsable saw diameter
Saw location

Maximum timber capacity

Table size
Table height

Drive motor (standard)

optional)
Spindle speed
Spindle diameter
Weight

500mm
14mm pin hole at 30mm centre
305mm x 100mm

640mm x 850mm

g14mm

5.5Kw (7.5h.p)

7.5Kw (10h.p)

2200 r.p.m

30mm
365Kg

www.DaltonsWadkin.com



www.DaltonsWadkin.com

1-5

www.DaltonsWadkin.com



www.DaltonsWadkin.com

R

QIS5 S 38 04 SWOD TV —FI0N

d018 WILEYR

o

e

EX oW Jusm 16

AR
i P RER WM 1 E

ELECTRICAL DIAGRAM

www.DaltonsWadkin.com

1-7



www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.DaltonsWadkin.com

(=4

SECTION 2 INSTALLATION

Unloading (Fig 1)

Ensure that all lifting equipment used
is capable of lifting the weight of the
machine as a minimum. Refer to
Specifications (Section 1) for machine
weight.

To lift, place a sling either side of the
machine, passing under the
overhanging table and as close to the
main body as possible. Slowly lift the
machine ensuring it does not tilt and
slings are not slipping.

Alternatively the machine is bolted to
two wooden spacer blocks to zllow a
forklift truck to be used.

WARNING DO NOT WALK OR
STAND UNDERNEATH A SLUNG
MACHINE.

LIETING MACHINE

FIG1

2
3

Unpacking

Remove the packaging from all the
items and ensure that no damage has
occurred during transit.

The wooden spacer blocks secured to
the bottom of the machine must also
be removed.

Ascertain that the machine is complete
with all fittings, requested accessories
and tool kit. On a standard CK the
outfeed roller table and the wire safety

cage are packed seRarately to the
main machine. &

Contents of star@lml kit :-
Open ende anner 46mm AF
Allen key

.E machines only)
rpose 500mm diameter saw

ning

Before levelling the machine remove
the anti-rust material paricularly from
the bright areas. This may be
accomplished using a clean soft rag
soaked in paraffin. DO NOT use a
substitute as it may participate an
gxplosion.

Location and Foundation

The machine should be so placed that
the traffic of persons and materials to
and from the saw fits smoothly into the
general work flow. It should not be
sited such that the operator is placed
in a possible hazardous position.
Adequate clearance around the
machine should be provided to cater
for intended workpieces.

To obtain the best results from the
Wadkin machine it is important that
the floor on which the machine is to
stand has been levelled and is dry.

www.DaltonsWadkin.com

gt &



www.DaltonsWadkin.com

(74

The floor may be pre-driled and
anchors already fitted or the machine
with the outfeed table fitted may be
used as a template after being sited
and assembled. Hole positions for
fixing are found on the ‘'machine
foundation illustration’ in Section 1.

NOTE:- The machine and outfeed
table must be firmly secured to the
floor before machining.

Remove the large side access panel to
obtain access to anchor bolts holes.
Fully tighten the anchor bolts and re-
secure panel.

Machine Assembly (Fig 2)

Bolt the table leg (2) and the two fixing
brackets (1) securely to the outfeed
table (3). Fasten the fixing brackets to
the side of the saw base (4) but do not
tighten at this stage. Place a straight
edge along the saw table and
projecting over the outfeed roller table

FIG 2 ASSEMBLY

By turning the adjusting screws (5) in
the foot of the table leg the outfeed
table may be levelled to the saw table.

When set tighten the locknuts (6) on
the adjusting screws tacking care not
to move the screws settings. The
setscrews (7) holding the fixing bracket
to the saw e can now be tightened.
Secure table to floor tacking care not
to over tighten the bolts.

The wire guard is held in position by
eight screws positioned as follows:-

1) Two screws }unthe front face

of the saw la

2) The two scraws {(9) holding the
retaining plate at the front of the
outfeed table glso fix the guard.

3) Two screw he rear of the
outfeed talys

4) Two screlys)positioned on top of

the inf bnce.

*
*
Su&%ﬁd Services
| Supply

customer is responsible for an

uate electrical supply. Details of

e pnwer requirements are provided
wrtl'r the machine.

The machine s delivered with its
complete electrical equipment ready
for connection.

The electrical connection is at the side
of the machine and an electrical
schematic diagram is supplied with the
machine as well as within this manual.

POINTS TO NOTE WHEN
CONNECTING THE POWER SUPPLY
A) Check the voltage, phase and
frequency correspond to those
on the motor plate.

Check the main fuses are of the
correct capacity in accordance
with the machine nameplate.

B)

C)  Connect the incoming supply
leads to the appropriate

terminals.

2-2

www.DaltonsWadkin.com



(74

D)

E)

www.DaltonsWadkin.com

Check all connectors are sound
and that equipment is earthed.

Check the saw rotation:- When
viewed from the front the saw
should be rotating towards the
back of the machine. If this is
incorrect reverse any two of the
incoming mains leads after
having first isolated the power.

Exhaust Conneclions
The exhaust connection is located at
the rear of the machine.

The outlet is 175mm ¥ B0mm and
should be connected to the main
extraction duct by a length of flexible

hose.

The volume of air to be extracted at
the outlet is 11 cubic meters per
minute at a rate of approximately 26
meters per second.

The air requirement is 6 Bar (84 P.S.1}.

x$
>

$ .
$$

O

8&\

O
S
O

*

N\

www.DaltonsWadkin.com



www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.DaltonsWadkin.com

(74

SECTION 3 OPERATING INSTRUCTIONS

Safety and Safety Devices

The safe operation of woodwarking
machinery requires the constant
alertness and close attention to the
work in hand.

Read this instruction manual in it's
entirety before operating the

machine.
Blunt saws often contribute to
accidents. An  efficient machinist

knows when sharpening is necessary,
but if there is a reluctance to spend
time on sharpening then instead of
cutting efficiently and smoothly they
will tend to chop and snaich at the
warkpiece. This not only increases the
risk of accidents but also lowers the
quality of work.

When choosing a saw blade ensure it
is suitable for the machine, material
and saw speed.

A limit switch fitted to the top clamp
ensures correct holding of the timber
during cutting operation. If the swit

not in contact with the timb
prevents  the operating 2
commencing.

The wire cage guard cqQvg¥hg the
whole top surface of machine

restricts access.

Simultaneous ugﬁiﬂn of the two
'saw cycle' start ons ensure hands

are clear of the workpiece.

Before Operating the Machine

Ensure that all guards and fences are
securely fitted and correctly adjusted.
Guards and other safety devices are
NOT to be removed/opened while the
machine is in operation. They are
there for YOUR SAFETY.

Ensure saw blades are the correct
type and size for the prevailing
machine conditions and workpiece,

Check saw rotates in the correct
direction of cut, is sharp and securely
fastened.

Remove or securely fasten loose
clothing; confine long hair and remove
jewellery, etc.

Ensure adequate working space and
lighting is provided.

Switch on all U extraction
equipment, en it is working
correctly.

*
Check ma Qs in a safe and secure
manne. rate.

Che in is 'ON' and isolator at the
&) e machine is 'ON".

@uring Machining

Wear suitable protective equipment,
e.g. goggles, ear defenders, dust
mask. -

Step the machine using the master
stop before making adjustments or
cleaning wood chips from the work
area.

Keep the floor area around the
machine clean and free from wood
refuse.

Do not allow the floor to become
slippery with oil or grease.

Report any machine malfunction or
operator hazard to a person in
authority immediately. Do not attempt
to start or repair the machine unless
qualified to do so. If the machine is
running it should be immediately
stopped using the master stop.

www.DaltonsWadkin.com

3=L



www.DaltonsWadkin.com

Ensure all power sources are isolated
before commencing any maintenance
work.

Comply with the Woodworking
Machines Regulations. Failure to do s0
could result in legal proceedings.
Never leave the maching running
whilst unattended.

Do not attempt to operate the machine
while under the influence of anything
that reduces your alertness.

Machine Controls (Fig 1)
Before attempting to use the machine

aperators must be familiar with the
controls and their usage.

s,
3 @\@f’.

FIG 1 MM:HI§ CONTROLS

The control panel has been designed
for the easiest possible use and may
contain the following:-

1) A square green start button.
When pushed this starts the
saw rotation.  All  functions
except the trim stop are isolated
until the motor is started and
running at full speed.

2) A square red stop button. The
power to the saw motor is cut
off when pressed.

3) A large red master
stop/emergency stop button.
When pressed the button
remains in and must be turned
clockwise to be released. Using
the master stop cancels all but
the trim stop functions and
returns the saw to its lower
position where it is held until the
cycle is ready to be restarted.

switch e set to the 'MIN'

positio restrict the upward

tsa stance of the saw, The

um timber thickness for a

n through cut when set at
IN'is 15mm.

4) Pre-set 'sa@le cut' switch.
To sh{@ g cycle time the

j@ Trim stop switch, Tumning the
switch to the 'ON' position

extends a stop into the timber
path. The stop is adjustable to
give a trim to the end of the
timber up to & maximum of
10mm. Turning the switch to
'OFF" retracts the stop.

6) Saw cycle start buttons. The
two cycle start buttons must be
pressed simultaneously.

The machine isclator (7) is located on
the side of the machine. In the 'power
on' position the central bar of the
switch is vertical. Using a padlock, it is
possible in the ‘off position, to
immobilise the switch and prevent
unauthorised use.

The rate at which the saw may be
raised or lowered in the 'cut cycle’ may
be adjusted via the regulators (8 and
g). The down stroke regulator (9) is
factory pre-set and should not normally
need adjusting. A slower 'up stroke'
rate must be selected for hard wood or
similar dense materials as opposed to
a fast rate for soft woods.

www.DaltonsWadkin.com



www.DaltonsWadkin.com

(74

Typical Machine Operation Cycle 6)

The following is an example of a
typical machining cycle. The machine
should be correclly set up for the

Wind down top clamp (3) by
turning handle (2) in a clockwise
direction until within Smm of the
timber.

component to be cut and the electrical,
pneumatics and extraction equipment
switched on and correctly working.

1) Start saw by pressing square
red button (4).

2) Set the speed rate of the
upward saw action whilst no
timber is present. To increase
the rate turn the stroke regulator
(1) clockwise and anti clockwise
to reduce

or optional position feed stops.

3) If required, operate trim stop (5) §

9

\

2 g/ Note:-

s S

FIG2 CONTROLS

Y,

_ 8)
4) Select required pre-set saw cut
cycle (8).

5) Feed timber to stop or required
cut position.

: g & 5 s
' e G0« © @ Press the two outer saw cycle
M I '

TOP CLAMP

start butlons simultaneously.
This lowers the top clamp to
hold the timber in position and
then triggers the saw to move
upwards. At the top of its
upward stroke, contact- is made .
with a limit switch which returns
the saw to the bottom rest
position and then releases the
clamp.

Although the saw is returned to
its bottomn rest position it should
be noted that the saw itself is
still switched on and rotating.

Repeat procedure for next cut
after removing previous cut
timber.

www.DaltonsWadkin.com



www.DaltonsWadkin.com

Trim Stop Adjustment

When the trim stop is operated a
neumatic cylinder ejects the trim stop
ar out into the path of the timber.

Located at the end of the bar is a

threaded screw with a locknut which

Eruvides for the adjustment.
or safety and ease of adjustment the

trim stop must be out and the power
isolated at the master stop button
before setting. To set the trim stop,
first loosen off the locknut and then
turn the screw clockwise to increase
the trim cut or anti-clockwise 10 reduce
the cut. The cut should not be less
than 3mm and up to a maximum of
10mm. Tighten the locknut when set

(*4

3-4

www.DaltonsWadkin.com



www.DaltonsWadkin.com

(74

SECTION 4 MAINTENANCE

Scheduled Maintenance (Fig 1)

Scheduled maintenance consists of
regularly maintaining the machine in a
good operating condition, capable of
safely producing good quality trouble
free work, with the minimum of down
time.

This includes tasks such as regular
cleaning and lubrication which can and
should be performed by the operatar,

The power to the machine must
always be isolated at the mains or at
the masier stop before proceeding with
any maintenance operation.

Weekly

It is recommended that the machine be
cleaned thoroughly once a week
especially when working on hardwood
or highly resinous material, to prevent
chocking of ventilator airways and
build-up of deposits on working parts.

Ensure sawdust does not build HFQ

around motor and belts. O

If cleaning with compressed gj e
care not to direct the | any
bearing housings, movin , etc

to avoid forcing dust a ris into
the bearings and housj

ove freely,

Grease each nfigg ur bearing units
(1) via their g nipples with one
'shot' of Wadkin grade L6 grease from
a pump type grease gun.

The two idler pulleys (2) have grease
nipples at their centres and should be
lubricated with the same amount and
type of grease as the bearing units
using a pump type grease gun.

The saw blade should be checked for
damage and build up of resin/saw
dust. Clean or replace as necessary.

Monthly
Check level of oil in air lubrication unit
and if necessary top up using Wadkin
rade L1 oil from an oil can.
heck liquid level in filter/regulator
bowl and drain if required.
Check tension and condition of all
drive belts. Replace if necessary.

FIG 1

LUBRICATION

Yearly

Remove and clean the air inlet filter
and bowl. Remove and clean lubricator
bowil.

Two Yearly
Replace air inlet filter element.

Note:- Depending on the machines
usage and environment it may be
found necessary to halve the cleaning
and replacement time for the air inlet
fiter parts.

www.DaltonsWadkin.com



www.DaltonsWadkin.com

i#4

Tensioning/Replacing Motor Drive
Belts (Fig 2)

Belts must only be replaced as a set
and never on an individual basis.

Isolate power at mains or at master
stop before proceeding.

The belt is at the correct tension when,
on application of an average thumb
pressure of 22-31N (5-7Ib/f) at the mid
span, it deflects approximately 6-
10mm.

To slacken off the tension for belt (1)
removal or to increase the belt tension,
the motor mounting bracket must be
moved using the adjustment screw (2).
A clockwise rotation increases the
tension.

FIG 2

DRIVE BELTS

Tensioning/Replacing Saw Spindle
Drive Belts (Fig 2)

Belts must only be replaced as a set
and never on an individual basis,

Isolate power at mains or al master
stop before proceeding.

The belt is at the correct tension when,
on application of an average thumb
pressure of 22-31N (5-7Ib/f) at the mid
span, it deflects approximately 6-
10mm.

To slacken off the tension for belt (3)
removal or to increase the belt tension,
the belt tension pulley 54} should be
adjusted. The tension pulley is secured
to a slotted bar (5) and by slackening
off the pulley spindle locknut at the
rear of the bar the pulley may be re-
positioned. The nul must be re-
tightened after tensioning belts.

Air Filter Lubricator
Mainteuanca(() 3)

Before‘ampting to service any air

operat the air supply must be
shu d the systems pressurised
air sted.

FIG 3 AIR _LUBRICATOR

Air Filter/Regulator

To remove the filter element, first
remove the pressure gauge (1) and
then unscrew the bowl (2) anti-
clockwise. Unscrew the baffle (3) and
withdraw the element (4) and gasket,

www.DaltonsWadkin.com



www.DaltonsWadkin.com

(74

Clean the filter element in paraffin and
reverse blow with compressed air. Re-
fit cleaned or new filter element, taking
care not to damage it by over
tightening bafile.

The bowl once removed can be
cleaned in socapy water and rinsed in
clean water. DO NOT use solvents as
will destroy the bowl. o

To drain liquid from bowl slacken off
securing ring (5) until liquid flows out
freely. When empty tighten ring.

Lubricator

The bowl (B) is removed by turning
anti-clockwise and cleaned in the
same manner as above before being
re-fitted.

Changing Saw Blades (Fig 4)

Isolate machine at mains or at master
stop.

Usiag a spanner, unscrew and remove
the setscrews (1) securing the front
and side access covers ?2 and 3).
Position a piece of wood in the front
access slot under the saw blade to
prevent tooth damage should |
accidentally fall. Locate the supplj
allen key into the end of the &
saw spindle. Use the allen j
prevent the spindle rotgliqd/when
turning the locknut. with €
spanner. An anti-clockwise/ rotation
slackens the nut. Wh
front collar are remg
be lifted off the spi

nd removed.

Warning ;- Gr re must be taken
when handling the saw blade and the
use of thick gloves is recommended.

On refitting a blade ensure the drive
peg locates it the saw and front collar
before replacing and tightening the
lacknut,
Replace and secure the access
COVErs.

LSF

i &

_I| h

SAW CHANGE

www.DaltonsWadkin.com



www.DaltonsWadkin.com

d4—4

www.DaltonsWadkin.com



www.DaltonsWadkin.com

APPROVED LUBRICANTS

G

&§h?;£ Eﬂ-% -V

”*w%gﬁgjgwsﬁmg w;\Eﬂergﬂ.;z*’*ﬁa ;[e
-

s

_._QH;:.-‘.:W H
WS sf%@étHLE&”ﬁE*@&*%E? «M : o4 43

ce

= ﬁ-v-{

e R Mm:a‘o HEEA

Hh sww

Q- Nv%

Qs VI[TEH i x%@?&«vﬂmﬁgm §4 ksﬂaﬁéﬂé«;&w? an

G
0150 Bdra Emso

& b

CAwanias * Mul;ﬂpl&x*
: J*Greasaww Grease 4

o NO 3 No4a~*

Hydraulic oil with anti-c ‘& anti-oxidation, anti wear,
anti-foam performan

L2 Qil Gear oil (viscosit enti-stokes at 40 degrees c).

L4 Oil Plain miner@scosily 68 centi-stokes at 40 degrees c).
L6 Grease Greas @»

&

03 consistency lithium bearing grease.

www.DaltonsWadkin.com



www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.DaltonsWadkin.com

(*4

ILLUSTRATED PARTS LIST

CONTENTS

1. MAIN BODY ASSEMBLY
DRIVE AND SPINDLE ASSEMBLY

TOP CLAMP ASSEMBLY

TRIM STOP ASSEMBLY @
SAW CLAMP ASSEMBLY @)
OUTFEED TABLE ASSEMBLY, .C)

PNEUMATIC ASSEMEL&)

Moo B oW

www.DaltonsWadkin.com

ol



2,26—o | .
4]

16

L.._I_ll_l_l.ll.-lm

| ——21.24

22

N

FIG 1 MAIN BODY ASSEMBLY

2



www.DaltonsWadkin.com

(4

1. MAIN BODY ASSEMBLY

Ref No Description No Off
qr o Main frame 1
= Table 1
3. Access cover 1
4 ™ Control panel 1
5. Control panel cover 1
6. Pan head screw M3 x 6mm long 16
7. Access plate strip 1
8. Table fence 1
9. Saw Access plate 1
10. * Table insert 1
11. Cable cover @ 1
12, Spindle cover ' O 1
13. Motor inlet cover 1
14, * Rotation label 1
15. Saw Access cover . Qo 1
16. Electrical control plate 1
17. Hexagon socket countersunk s x 10mmlong 7
18, Hexagon head setscrew M10 wcng 2
19 Plain washer M10 2

20. Hexagon head setscrew mm long 4
21, Plain washer M8 10
22. Hexagon socket butt d screw M5 x 12mmlong 14
23. Hexagon socket co unk screw M8 x 12mm long 8
24, Hexagon socket gagh®ad screw M8 x 25mm long 3
25 Hexagon soc ead screw M12x40mmliong 4
26 Hexagon he rew M8 x 40mm long 4

? ys;eﬁ or right hand feed

www.DaltonsWadkin.com



www.DaltonsWadkin.com

PLAN MIEW
(SHOWING HALF SECTIONS THROUGH F‘ULLE‘I’S} & %
| ] _‘7
7 = ]
i |
15 - —+[ i [l e { ] 5
H l
5‘ 2324
'l___...-—'"-"-—--
15 — H m— 15
% Q
\\ =
T
/T TTIWNN LN
18,19 22 |5 6 20716 n 7
36
13 14 &Q 10 23
i
g . . 24,25
28
29
$ (p—F 32,3334
18,35
Q@) )| H—30
Q—-2324 31
RN
N —
N

26,2737 SIDE VIEW
(MAIN FRAME SHOWN CUT AWAY)

FIG 2 DRIVE AND SPINDLE ASSEMBLY

5-4

www.DaltonsWadkin.com



www.DaltonsWadkin.com

(4

2. DRIVE AND SPINDLE ASSEMBLY

Ref No Description No Off
1. Saw swing arm 1
2. Saw spindle sub-assembly 1
3, Front saw flange 1
4. * Saw spindle nut 1
E. Belt tension pulley 1
6. Tension pulley pin 1
7. Split spacer 1
8. Collar 1
: Idler pullay 1
10, Wheel washer 1
11. Idle pulley retaining screw @ 1
12. Saw pivot shaft spacer O 1
13. Quter brush 1
14. Inner brush C) 1
15. Bearing ref SNP40FS . Qo 4
18. 'SKF' Bearing ref 8205-2 \ 2
17, 'SKF' Bearing ref 6207-Z \& 2
18. Pulley 6 2
19. Taper lock bush @ 1
20. Lubrication nipple 2
21. Internal circlip diamet 1
22. Key 6mm x 6mm x 40 ng 1
23. Hexagon nut M12 3
24, Plain washer M 13
25, Hexagon sock crew M12 x 25mm long B
26. Plain washer NING 4
27 Hexagon n 2
28. Innerio sh fixings 4
29, spcket capscrew M5 x 12mm long 8
30. 'Ke otor base 1
al. H n head setscrew M12 x 25mm leng 4
32. agon head setscrew M10 x 25mm long 4
33. xagon nut M10 4
34. &Nashar M10 4
35. Taper lock bush 1
36. Drive belt ref SPZ1180 6
37. Hexagon socket capscrew M16 x 45mm long 2

* Specily left or right hand feed

www.DaltonsWadkin.com



www.DaltonsWadkin.com

ll

o I~ wom ~3 n

I '
N a/
|| ]

s ‘A

i

M_;-.M::

ot

LAY AT T A RS

0 R

w1

FIG 3 TOP CLAMP ASSEMBLY

5-6

www.DaltonsWadkin.com



www.DaltonsWadkin.com

(=4

3. TOP CLAMP ASSEMBLY

Ref No Description No Off

Trim stop base
Trim stop pad
Trim stop bar
Cylinder end plate
Hexagon socket capscrew M8 x 40mm long
Dowel diameter 8mm x 40mm long
Hexagon sockel countersunk screw
M6 x 200mm long
Hexagon head setscrew M8 x 50mm long

Plain nut M8
Hexagon socket countersunk screw §
MB x 16mm

* Specify left or right hand feed. Qo

oPE Nooswn-
[+ ] [ A 1] [ N

www.DaltonsWadkin.com



www.DaltonsWadkin.com

Sl

i 8 |
5 *

oo (O B8 eo

FIG 4 TRIM  STOP  ASSEMBLY

www.DaltonsWadkin.com



www.DaltonsWadkin.com

(=4

4. TRIM STOP ASSEMBLY

Ref No Description No Off
1. Guard pillar support 1
2. Guard bearing housing 1
3. Guard adjusting bar 1
4, Guard adjusting screw 1
8. Setting collar 1
6. Guard bearing block 1
4 Dust cover 1
8. Hexagon socket capscrew M8 x 30mm long 8
9. Handwheel 1
10. Thrust bearing 1
11. Oilite bush I'D 20mm x O/D 25mm x 12mm Ig@ 2
12. Hexagon socket grubscrew M5 x Bmm Iunn 1
13. Shaft 1
14, Hexagon socket grubscrew M10 x 1Emn@1g 2
18. Hexagon socket grubscrew M6 x wmlang 1

> >

186. Qil seal
17. Bearing bush 8&

www.DaltonsWadkin.com



www.DaltonsWadkin.com

SAWGUARD CLAMP ASSEMBLY

PG S8

510

www.DaltonsWadkin.com



www.DaltonsWadkin.com

(4

5. SAW CLAMP ASSEMBLY

Ref No Description No Off

L

Sawguard clamp

Clamp pad

Microswiich guard

Limit switch plate

Hexagon socket capscrew M8 x 25mm long

Plain washer M8

Hexagon socket capscrew M8 x 20mm long
Hexagon socket capscrew M5 x 10mm long
Hexagon socket button head screw M5 x 10mm long

Spring washer M5 @

* Specify left or right hand feed. C)

10 00 =401 s G313 =t
NRNOODH O =

ak
=

=11

www.DaltonsWadkin.com



www.DaltonsWadkin.com

{ %’@) e

e FIREL Rl
2 -
14
T ey
13 8,9,10
4 plf each
3 5,10
4 off each
st ™
1112 = = _ e
[&]
g N -
M e
dotr_.___.___,__d_..--—-""
8.9
4 oft pach

6

Eﬂﬂ\

715
2 off each TQI

S

>
@ |

FIG 6

OQUTFEED

TABLE ASSEMBLY

(*4

512

www.DaltonsWadkin.com



www.DaltonsWadkin.com

(=4

6. OUTFEED TABLE ASSEMBLY

Ref No Description No Off
1. Leg 1
2. Short outfeed table 1
3 Retaining plate 1
4. Rear fixing bracket 1
5 Front fixing bracket 1
B. Hexagon head setscrew M12 x 50mm long 2
7. Nut M12 2
8. Nut M10 B
9. Plain washer M10 12
10. Hexagon head setscrew M10 x 20mm long 12
11. Plain washer M6 2
12. Hexagon socket button head screw MG x 1@| ong 2
13, Tension pin diameter 4mm x 16mm long 2
14. Roller and shait 0 2
15. Plain washer M12 . . 2

5=13

www.DaltonsWadkin.com



www.DaltonsWadkin.com

Oee ® e ® 6 ?

© ©

FIG 7

PNEUMATIC ~ CIRCUIT

5-14

www.DaltonsWadkin.com



www.DaltonsWadkin.com

(4

7. PNEUMATIC CIRCUIT

Ref No Description

Mounting bracket Gams"

Lubro control unit

Tail piece adaptor Gas"

Natural nylon tube diameter 12mm
90 Degree swivel elbow 12-3/8"
Tee connector 12mm

Reducing connector 12-6

Natural nylon tube diameter 6mm
Pressure gauge 0-10 Bar

Solenoid piclet set-reset

Silencer Ri/4" @
Straight adaptor 12-1/4" O

90 degree swivel elbow 12-1/2" 0

Air cylinder

Uni-directional flow reaulatar o ¢

Rear eye mounting 'UR'’

Piston red eye muuntlng '‘UF 8&\

Straight adaptor 12-3/8’

Reed switch

Tee connector 6mm
Solggoid pu?é pre-set

a0 rea elbow 6-1
Silenc%r R1/8" %
Elbow connector

Air cylinder

Straight ada -1/8"
MNatural nyl e diameter Bmm
90 da el elbow 8-3/8"
Air cylinig

Flagge mounting

$$

WM RN -tk e
SUBNBHRENESoaIpnrwpapPRNeOARNS

—

—-—nmgm-m-hmm-nmm—t—lm-t.hmm-u-

www.DaltonsWadkin.com

5=15



www.DaltonsWadkin.com

:

www.DaltonsWadkin.com



www.DaltonsWadkin.com

LIFTING AND TRANSPORTATION

Dimensions and Weight

Length for transportation 1300mm Ascertain that the machine is complete
Width for transportation 1200mm with all fittings, reque accessories
Height for transportation 1500mm and tool kit. On a ard CK the
Weight for transportation 400kg outfeed roller table the wire safety

cage are pack parately to the

main machine.
*
f standard tool kit -
panner 46mm A/F
rm Allen key
(C.E machines only)

Unloading

Ensure that all lifting equipment used
is capable of lifting the weight of the
machine as a minimum,

The machine leaves the factory fitted
to a wooden pallet or to woode
blocks which allows movement b@
fork lift truck. \

ne

Alternatively to lift using ,
place a sling either @ the
machine, passing uRde the
overhanging table and 2 slose to the
main body as possi lowly lift the

machine ensurin pes not tilt and

slings are notsl§ :
not walk or stand

WARNING -
underneath a raised
machine.
Unpacking
Remove the packaging from all the ;

items and ensure that no damage has - s
pccurred during transit. i. o
— 1

The wooden spacer blocks secured o
the bottom of the maching must also
be removed.

www.DaltonsWadkin.com




www.DaltonsWadkin.com

www.DaltonsWadkin.com



FOR YOUR SPARE PARTS REQUIREMENTS
PHOTOCOPY THIS FORM, COMPLETE THE SHADED
AREAS AND FAX BACK DIRECT TO WADKIN

www.DaltonsWadkin.com

31
i

0116 2742310

CUSTOMERS *ORDER / * ENQUIRY FORM |

"DELETE AS REQ'D
Your Ref. No.
AccountMo, - Date
Daliver To Invoice TolAlternative Address
.
.
Telephone No. § l é livery Territary Coda
Contact Name R x
Cate Reguired Customer order Number Q%a‘&nbar& Typa Tesl Number
Despaich Instructions Terms Of Payment
7 o 3
N
N
Part Mo. (If Known) Qty Details Unit Par Unit Code
or Page/Ref. Na. Q Price
] A s Y
L4
e N
- L T e
= L L FEITTS NS I
PLEASE ACTION AS REQUESTED (Customars Signatura) Sheel No. 1 of

WWADKINDATANWINSETSIGENERALMANUALSMISClord_form.dog

www.DaltonsWadkin.com



www.DaltonsWadkin.com

www.DaltonsWadkin.com



In.com

WULTRA&“ cron L o i
4P
l“ At the Cutting Eage of Industry .

Fax no - 0116 2744567

SERVICE CLUB

The Wadkin Service Club is designed to assist companies who have woodworking machines and
who appreciate the benefit of having their machines maintained on a regular and professional basis.

For each visit Wadkin make time on site will be charged at £28.00 per hour, Travelling time will be
charged at £25.00 with no charge for mileage, we have however “capped” this cost at £100 per
“engineer day “.

If an engineer is required beyond the two recommended visits for breakdown repairs, then as a
member of the Service Club, the reduced rate of £28. 00 per hour yill still apply. Travelling time will
be charged but still at the reduced rate of £25.00 per hour.

With membership of the Club, the price of all Wadkin s arts will be discounted by 25%

(excluding CNC equipment and Tooling). You simply”have to commit to two or more
scheduled visits per year. ‘\\
Contracts run from 1* January to 31" December a&r.

It is felt that this service option gives valu ney and flexibility for your business. Non Wadkin
machines can be included in the service | uired.

The following rates are charged to Q‘ ervice Club customers

Travelling time - £35 r + 0.38p per mile
On site work time - hﬂur
Wadkin employ 24 Sem neers in the UK. All are fully trained and mobile and supported by a

Leicester-based team g cialists.

CNC routers are n tained through our Service Club. We do however offer competitively priced
Parts and Labo abnur Only Service Contracts to cover this machinery. If your are interested
please contac orman Crofton on the telephone number below.

We enclose a membership form and look forward to the opportunity of furthering our business
relationship with you in the future. This is the club with no joining or membership fee

Yours faithfully,
For Wadkin Ultracare Lid

Lol

Tina Townsend

www.DaltonsWadkin.com



www.DaltonsWadkin.com

www.DaltonsWadkin.com



10.

www.DaltonsWadkin.com

Woadkin Ultracare Ltc
Green Lane Road Leiceste:
LE5 4PF

“‘ At the Cutting Edge of Industry Tel no :- 0116 2769111

Fax no :- 0116 2744567

SERVICE CONTRACT
TERMS AND CONDITIONS

The company's general terms and Conditions shall apply.

All service provided by the company in accordance with this agreement shall be carried out by
employees of the company or by sub-contractors employed for that purpose.

The machines specified must be operated and maintained_in accordance with instructions
provided by the company, with due particular reference to um loadings.

The customer shall ensure that the company’s empfnc@agants or sub-contractors have full
and free access to the equipment at all reasonable Na#es for the purpose of inspection and

service, . ¢

The customer shall ensure that, when req \kﬁy the company's employees, agents or sub-
contractors, fully competent operating are on site to operale the equipment, to
demonstrate any faults, and sub @Iy to verify the satisfactory operation of the

equipment.

The customer shall ensure th achines are clean, and provide, at no charge, adequate
working space, power and li to enable the company to perform the services.

in the event of non- by the due date the company reserves the right to suspend
performance of its ns under this agreement until such payment is made.

The company rg3grves the right to make a charge for engineer’'s time and other costs and
expense incu responding to a call for service where the cause of the fault was external
to, or due is-use of the machines. Such would be made at the normal service rates

ap:-plica@t he time of the visit,

This agreement will remain in force for one year, unless otherwise stated.

The company shall not be liable for any failure its obligations caused by an industrial dispute
or any other cause beyond its control

www.DaltonsWadkin.com



www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.DaltonsWadkin.com

Wadkin Ultracare Ltc
Green Lane Road Leiceste
il e

At the Cutting Edge of Industry

Tel no:-0116 2769111
Fax no - 0116 27445867

ENROLMENT FORM

Enrolment in the Service Club is from 1* January to 31* December annually.
We would like visits per year until further notice.

Preferred months being and

Machine type/types being 4@
0O

When calling, your engineer should contact

Official Order Number for the necessary visits {pfe‘as ote we will continue to use this order number
until we are advised otherwise) 4\‘

Invoice address R @ address

R

\00

ot
4

*

Telephone Mo Telephone No

Fax Mo $ \ Fax Mo
Contact Contact
We agree to pay the charges prevailing at the time the work is done. If there are any price changes,
we will be notified in writing accordingly.

In the event that we wish to cancel this agreement notice will be given in writing 30 days prior the next
scheduled visit.

Yours faithfully,

For Position Date

www.DaltonsWadkin.com



www.DaltonsWadkin.com

www.DaltonsWadkin.com



	20080804105346
	20080804105529



